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What will be LCM of 16, 20, and 24?
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3. Find HCF of 45ﬁm?
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4.  Find the HCF of 0.16, 20, and 0.032?
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7. Whatis thileast multiple of 13,
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\*@8' A milkman has 3 Jar containing 57

7 liters, 129 liters and 177 liters of pure
milk respectively. A measurlng can .. 7zt
leaves the same amount of milk  ;3q_1y9 - us
Unmeasured in each Jar after a W3-£3 =2

different number of exact Hr-r/
measurements of milk in each jar. What g:
Is the volume of largest such can? L

(a.) 24 Liters (b) 22 liters
(c) 20 liters (d) 16 liters



9. In a party of children each one gives gift
to others the total no. gifts distributed in
that party was 132. Fnd the no. of
children attend that party.



10. Find LCM of 472,474,475,
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13. Find HCF of 372, 374 316.
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14. If LCM of two no. i1s 2310 and their HCF Is
30. If one no. iIs 330. Then find the other no.
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15. If LCM of two no. Is 24 times of their
HCFE If The sum of HCF and LCM is 375
and one no. is 45, Then what will be the

other no.”? .
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16. (1). The greatest no. which when divided
by @ 73, and 97 leaves remainder equal in

each Case. ~
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(1) The greatest no. which when divided by
1541, 2443, and 2607 leaves remainder
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17. Find the least no. which is to be
subtracted out of.so that when it
divided by 9, 10 and 15 leaves remainder@




18. Find line least no. which is a perfect
square which can be divided by 12, 15, 18
and 24 exactly.

Tim-.  Frd NG Lomd Ay .
ha ,fmb/g w‘chLw;le fauruf:%
Lum 2 |£.ls 14
= 3L°x\o 3000

/

_ s]xs'xaxs
=

g



19. The least no. ofhich can be

divided by 40, 50, and 60 without
remainder.
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20. If HCF of three numbers i€ 30)and
numbers are Is ratio 2:3:5. Then numbers

(@) 60-307 150 (b)-120:200: 300
(c)60:90.100 (d) 60" 90:150

N



